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ESSENTIAL VOCABULARY - 15 
 
1. In 1988, the novelist suffered a stroke that ---- 

his memory and a far worse blow to his 
career was his wife’s death from cancer six 
months later. 
 
A) interfered 
B) exposed 
C) weakened 
D) revealed 
E) mentioned 

 
 

2. The ---- of the music and the images 
throughout this film provides an amazingly 
powerful backdrop to the main story. 
 
A) discontentment 
B) separation 
C) entertainment 
D) combination 
E) embarrassment 

 
 

3. That you are still feeling ---- for what 
happened to your boyfriend is not a big 
surprise to me. 
 
A) previous 
B) substantial 
C) abusive 
D) humble 
E) guilty 

 
 

4. The Alps are the highest and most ---- settled 
mountain belt of Europe, inhabited by about 
twenty million people. 
 
A) densely 
B) adoringly  
C) accurately 
D) resistibly 
E) terminally 

 
 

5. The suspects are ---- of having obtained 
answers to test questions ahead of the exam 
and having shared these with others via text 
messages. 
 
A) gained 
B) accused 
C) demanded 
D) exploded 
E) arrested 

 
 
 

6. Illegal trade in elephant ivory is a continuing 
problem, posing one of the greatest ---- to 
elephants today. 
 
A) dreams 
B) tricks  
C) debates 
D) peaks 
E) threats 

 
 
 
 
 

7. One of the reasons for the high number of 
stray dogs in this neighbourhood is that 
people from other areas bring ---- dogs here 
and then leave them forever. 
 
A) preventive 
B) disposable 
C) permissible 
D) unwanted 
E) persuasive 

 
 

8. Recent evidence ---- suggests that Mars at 
one time had liquid water on its surface. 
 
A) tensely 
B) strongly  
C) roughly 
D) concisely 
E) smoothly 

 
 
 

9. The government has just ---- some precautions 
in order to fight the rising inflation but we 
don’t think they will work at all. 
 
A) survived 
B) vanished 
C) destroyed 
D) exploded 
E) introduced 

 
 

10. According to a new map of global wind 
speeds, wind power could generate enough 
electricity to support the world's energy ---- in 
the next several decades. 
 
A) gates 
B) wages 
C) needs  
D) moments 
E) deterrents 
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11. You need to protect your skin from the sun's 
---- ultra-violet rays, which cause skin 
damage and cancer. 
 
A) previous 
B) harmful 
C) reluctant 
D) emotional 
E) capable 

 
 
 
 

12. Russia's conquest of Siberia was ---- quick, 
sweeping from the Urals to the Pacific in just 
over a half century, creating the Russian 
Empire. 
 
A) impressively  
B) attentively 
C) horizontally 
D) extravagantly 
E) superficially 

 
 

13. Since Malaysia ---- its driving system from the 
British colonists, cars are driven on the left 
side of the road and therefore exits are made 
on the left. 

 
A) released 
B) relieved 
C) dispensed 
D) inherited 
E) affected 

 
 

14. Eastern Siberia, which is home to the world's 
largest diamond mine, has long been the ---- 
of big dreams and ambitious plans, yet it 
remains relatively empty. 
 
A) fence 
B) barrier 
C) asset 
D) target  
E) consent 

 
15. In the film King Kong, the ---- population of 

humans on Skull Island manage to avoid 
getting killed by the giant insects that live 
there. 
 
A) ambiguous 
B) inhabitable 
C) indigenous 
D) approximate 
E) incessant 

 
 

16. Although people ---- treat short-term 
insomnia with sleeping pills, many become 
dependent on them. 

 
A) significantly 
B) previously 
C) accidentally 
D) unbearably 
E) successfully  

 
 
 
 

17. The chemical composition of seawater is ---- 
by a wide variety of chemical transport 
mechanisms. 
 
A) corrected 
B) claimed 
C) rehearsed 
D) influenced 
E) disappointed 

 
 
 

18. Although many tribes appear to have paid 
almost no ---- to the earthworks, some clearly 
viewed them with a mixture of awe and 
respect. 
 
A) confusion 
B) attention  
C) precaution 
D) evaluation 
E) confession 

 
 

19. Many brave individuals fought and lost their 
lives in order to protect the right of slaves to 
have ---- treatment. 
 
A) biased 
B) unfair 
C) equal 
D) infamous 
E) previous 

 
 

20. Although they were once common 
throughout Africa, elephant numbers have 
been ---- reduced largely due to the massive 
ivory trade.  

 
A) punctually 
B) reluctantly 
C) maturely 
D) gratefully 
E) severely  
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21. Recent research ---- on the human brain has 
helped to demonstrate that learning two or 
more languages involves much more than 
just knowing them. 
 
A) wiped out 
B) carried out 
C) given up 
D) looked into 
E) cut down 

 
 
22. Although socialism has gained popularity 

among the governments of Eastern Europe, it 
has never ---- in the US because of the ethnic 
and religious heterogeneity of the country. 
 
A) caught on 
B) taken out 
C) brought down 
D) broken up 
E) waited for 

 
 

23. When a problem ---- in our lives, we 
immediately look for someone to blame 
because it feels easier than dealing with it. 
 
A) takes off 
B) sets out 
C) comes up 
D) puts over 
E) makes out 

 
 

24. The indiscriminate use of the word Nazi to 
describe anything to do with German policies 
during Hitler’s dictatorship may ---- a false 
historical understanding. 

 
A) get rid of 
B) shed light on 
C) cut down on 
D) make up for 
E) give rise to 

 
 

25. After more than ten years in power, the prime 
minister had to ---- because the financial 
crisis undermined all his belated efforts to 
undertake economic and political reforms. 
 
A) point out 
B) run out  
C) depend on 
D) put aside 
E) step down  

 
 

26. Smoking is linked to a wide range of serious 
health problem, but it is especially harmful 
during pregnancy as it may ---- the oxygen 
supply to the foetus. 
 
A) cut off  
B) give in 
C) keep on 
D) set off 
E) build up 

 
 

27. If trees are ---- at an alarming rate, the oxygen 
levels on Earth decreases and at the same 
time, the percentage of carbon dioxide 
increases, causing global warming. 
 
A) looked back 
B) carried out 
C) slowed down 
D) taken off 
E) cut down  

 
 

28. Some energy supplies, especially oil and gas, 
are being used up so quickly that it is only a 
matter of time before we ---- them. 
 
A) look up to 
B) come up with 
C) run out of 
D) go down with 
E) take part in 
 
 

29. If you really want to cut down on salt from 
our diet, I think you should ---- consuming 
salty canned foods. 
 
A) sort out 
B) give up  
C) put on 
D) catch on 
E) put over 

 
 
 

30. It is known that nicotine and carbon 
monoxide from the cigarettes cut down the 
oxygen supply to the unborn baby and ---- its 
growth. 

 
A) slow down  
B) come up 
C) bring on 
D) take place 
E) settle down 
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31. The preference for sons over daughters has 
led ---- the number of girls under the age of 
six hitting an all-time low in India, where 
women are discriminated ----.  
 
A) to / by 
B) by / for 
C) at / among 
D) up to / against  
E) amidst / about 

 
 

32. Nightmares can be vivid and frightening 
detailed images that can leave us ---- a state   
---- panic and fear after we have woken up. 
 
A) in / of 
B) by / for 
C) to / off 
D) with / in 
E) from / at 
 
 

33. People are often led to believe that one ---- 
two marriages ends ---- divorce because we 
too frequently use the American media as a 
source of information. 
 
A) in / in 
B) at / for 
C) off / with 
D) out of / by 
E) between / on 
 
 

34. A typical problem in research investigating 
the effect ---- the built environment ---- health 
behaviours is that it overlooks the fact that 
neighbourhoods do not exist in isolation. 

 
A) on / with 
B) by / to 
C) of / on 
D) in / over 
E) into / from 
 
 

35. With the success of freezing, drying is no 
longer an essential means ---- preserving food 
for times when it may be out ---- season or 
expensive. 

 
A) by / in 
B) for / to 
C) of / of 
D) over / at 
E) on / into 

 
 
 

36. Some people who have had a concussion find 
that ---- first it is hard to do their daily activities, 
their job, to get along ---- everyone at home, or 
to relax. 
 
A) at / with 
B) by / for 
C) to / up 
D) on / for 
E) in / by 

 
 

37. If you have nothing good doing, you tend to fill  
---- time ---- useless and unprofitable things. 
 
A) of / for 
B) with / in 
C) up / with 
D) over / of 
E) off / about 

 
 
 

38. Not surprisingly, people with low levels of social 
support and with limited or non-existent social 
ties are ---- much greater risk   ---- suicide. 
 
A) at / for 
B) about / on 
C) with / from 
D) under / off 
E) in / against 

 
 
 

39. The software giant has worked ---- new a plan 
that will provide computers ---- the poor. 
 
A) in / among  
B) at / by 
C) up / with 
D) out / for 
E) on / from 

 
 
 
 

40. Even though we can instantly recognise most 
cacti ---- being cacti, they show a wide range of 
forms, each one adapted ---- particular 
environmental and site conditions. 
 
A) in / off 
B) as / to 
C) by / for 
D) on / at 
E) for / to 
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ANSWER KEY 
1 C 9 E 17 D 25 E 33 A 
2 D 10 C 18 B 26 A 34 C 
3 E 11 B 19 C 27 E 35 C 
4 A 12 A 20 E 28 C 36 A 
5 B 13 D 21 B 29 B 37 C 
6 E 14 D 22 A 30 A 38 A 
7 D 15 C 23 C 31 D 39 D 
8 B 16 E 24 E 32 A 40 B 
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